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Uze the following to answer question 1:

lable: GDF

Year 2011 (in billionz of dollars)
Comammpren gpanding Yo}
Benldd inwome 10
lite rest a5
Prafit 0
Trrecstment. 2pend imp I5
Wages 24
Guoveriunznl purelisay 18
lmpartz d
Fxpartz 3

1. (Table: GDP) GDF in the table is:
Al 394 billion.
B) $18&8 hbillion.
) $168 billion.
I $139 hillion.

Uze the following to answer questions 2—4.

Table: The Consurner Price Index

Year Consumer Price Index
l 80
2 {base vear) LO0
3 105
4 125
5 150

2. [Table: The Consurner Price Index) The approximate rate of inflation
in year 2 is.

A 10%.

B} 19%.

) 20%.

L 25%.



3. (Table: The Consumer Price Index) The approximate rate of inflation
in wear b iz

A) 5%,

Bl 10%.
Cl 19%.
DN 20%.

4, (Table: The Consumer Price Index) The approximate rate of inflation
in wear 3 iz

Al 5%,

Bl 10%.
C) 19%.
D 20%.

Jze the following to answer question 5!

‘Lable: C1'1

2E 2012
Product Cnantiry Price {Jnantity Frice
Bread 2,000 5100 1,200 150
Laptapsz L0t 2000 ) 130 1,200 0
Movies 50 5.0 4l 700

5. [(Table: CPI) Suppose only three goods are produced in this econongy
bread, laptops, and movies, Calculate the CFL of 2012, using 2008 as

the baze wvear.

A) 819
B} 100
2 958
Dl 95
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Jze the following to answer question 6.

Talle: Calenlating CGDP

Renl §2,400
Cemammprion Apending FRLNY|
Socdal Secutly benelil 6,100
Imeestment zpendimg 2,100
Wages and malaries f,A00
L pouts s
Inrerest 1,200
Groveimunent prchases of poods and serviesz 2600
Profit= 1,400
Impouts 1,200
Purctisse of stovks &, 300
Lnemplaogment compenzation 3050
Piyroll luxes 2065
Halos faxer 1,300

G. (Table: Caleulating GDF) Using the information in the table provided,
which of the following 1s the correct caloulation for GDE?
Al $47.475
Bl $12200
Tl $21.,485
D) $34,085



